Vypocitaj determinant matice M:

1 -1
a) M=
-2 1
15 10
b) M=
3 2
2 3 1
) M=|-1 2 3
3 2 -1
1 -6 5
d) M=|2 2 5
-1 -4 1
1 2 3 4
-2 1 -4 3
e) M=
3 -4 -1 2
4 3 -2 -1
21 0 4
1 2 1 4
) M=
0 3 2 2
2 1 3 3
Vysledky:
a)  |M|=-1
b)  |M|=0
o |M]=0
d) |as|=34
e [M]=900
H  |M]=18

g)

h)

i)

k)

D

1)
k)

Y

DU - prvni sloupec,obe stranky

3 4]
M=

2 -5

17 —11]
M=

6 -3

11 2
M=[2 3 1

3 4 -5

15 4
M=|-12 -7

0 -5 15

1 2 3 3

21 1 1
M =

36 5 4

33 2 2

303 3 1

2 4 05 2
M =

3 4 5 1

2 2 3 4

|ps|=-23

[p]=15

pe]- -

[p]=0

IM|=6

|p1|=14

m)

4 10 20

|af]=12
|ps|=-045
|M]|=-76
|as|=380

)= -15


DU - prvni sloupec,obe stranky


VyrieS$ rovnicu danu determinantom
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